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QUESTION 1

A virtual server is listening at 10.10.1.100:any and has the following iRule associated with it: 

A. pool1 

B. pool2 

C. None. The request will be dropped. 

D. Unknown. The pool cannot be determined from the information provided. 

Correct Answer: D 

 

 

QUESTION 2

Which statement about Generic Host Servers is true? 

A. GTM Systems can initiate a big3d agent on Generic Host Servers. 

B. GTM Systems cannot provide path metrics for Virtual Servers managed by a Generic Host Server. 

C. GTM Systems can monitor a Generic Host Server and can cause a Generic Host Server to act as a Statistics
Collection Server. 

D. GTM Systems can monitor a Generic Host Server but cannot cause a Generic Host Server to act as a Statistics
Collection Server. 

Correct Answer: D 

 

QUESTION 3

The Web Application Security Administrator user role can perform which of the following functions? (Choose two.) 

A. Modify HTTP class profiles 

B. Create new HTTP class profiles 

C. Create new Attack signature sets 

D. Assign HTTP class profiles to virtual servers 
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E. Configure Advanced options within the BIG-IP ASM System 

Correct Answer: CE 

 

 

QUESTION 4

When using a single BIG-IP with APM, an organization can support up to 60,000 concurrent remote access users. 

A. True 

B. False 

Correct Answer: A 

 

 

QUESTION 5

It is common for free storage space to exist somewhere in a business network that is not easy for storage administrators
to utilize. What solution can the ARX provide in this situation? 

A. The ARX identifies the exact location of the free storage, which allows network administrators to target those
locations when provisioning additional storage. 

B. The ARX extends the capacity of each server by 10-15, through intelligent file virtualization. 

C. The ARX uses the extra storage for transaction logs and index files. 

D. The ARX allows the customer to pool storage from anywhere within the enterprise and capacity balance the overflow
across devices. 

Correct Answer: D 
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